=LPDB

*UXSD 5RINiDG 35% :

6(0 7\J

o
™
=
n
oD
D
™
o3
=
)
7\6] 7\6] 7N 7\6] 7\6] 7\6] 7\6]
BIDZRSIDF\ Z GJ 3UDZR KDQGIRZH GY BIDZRSIDF\ Z GJ BIDZRSIDF\ Z GJ BIDZRSIDF\ Z GJ 3IDZRSIDF\ Z GJ BIDZRSIDF\ Z GJ
_XFKDUWNL 203IHUG =DICFL *DPURI OLFKDi =DICFID - XFKDUWNL 203IHUG =DICFL _XFKDUWNL 203IHUG =DICFL _XFKDUWNL 203IHUG =DICFL _XFKDUWNL 203IHUG =DICFL _XFKDUWNL 203IHUG =DICFL
DRQIQH  35$ = RQIQH 358 = = DRQIQH  35$ = DRQIQH  35$ = DRQIQH  35$ = DRQIQH  35$ = DRQIQH  35$ =
- 7N - - - - -
7\6] 7\6] 7N 7\6] 7\6]
3UDZR KDQGIRZH G 3UDZR KDQGIRZH G 3IDZRSIDF\ Z GJ 3IDZRSIDF\ Z GJ 3IDZRSIDF\ Z GJ
*DPURI OLFKD; =DICFID *DPURI OLFKD; =DICFID _XFKDUWNL 20JIHUG =DICFL = \NiDG VZRERGQHJR _XFKDWNL 20JIHUG =DICFL _XFKDUWNL 20JIHUG =DICFL
RQUQH 358 = - RQUQH 358 = - DRQUQH  35$ - Z\ERIX,9 GUKDE DRQUQH  35$ - DRQIQH  35% =
: _UDVXVNL $QGUIHI =DICFL 8 :
a 7\G] DRQUQH  35% :
, X g
o = \NiDG VZRERGQHJR 7 :
@ Z\ERUX 9 GUKDE 2FKURQD GDQ\FK
> _UDVXVNL $QGUIHI =DICFL = \NiDG VZRERGQHJR RVRERZ\FK = I\J
DRQUQH  35$ = Z\ERIX,9 GUKDE DICFID GR
E _UDVXVNL $QGUIHI =DICFL
2FKURQD GDQ\FK DRQUQH  35% -
RVRERZ\FK :
2FKURQD GDQ\FK
7N RVRERZ\FK
3UDZR KDQGIRZH GU 7\G]
*DPURI OLFKDi =DICFID GHPLQDUXP GU OXFKD
RQUQH  35% = - _UTW]IRI =%
‘ 35$ - 6(0
7N 7N 7N 7\6] 7\6]
a _ GHPLQDUXP GU OXFKD GHPLQDUXP GU OXFKD GHPLQDUXP GU OXFKD GHPLQDUXP GU OXFKD
8 %RNIC]\NRZ\  35% _U\WVIIRI =% _U\WVIIRI =% _U\VIIRI =% _U\VIIRI =%
é EE- 35z 6(0 358 - 6(0 358 - 6(0 358 - 6(0
% 7N 7\6]
(o4 GHPLQDUXP GU OXFKD GHPLQDUXP GU OXFKD
_UTW]IRI =% _UIW]IRI =%
35$ - 6(0 35$ - 6(0




